275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

HEADLIGHT FENDER GUARD

WESTERN STAR 49X
INSTALLATION INSTRUCTIONS:

1. Hold headlight fender guard in the respective location on the front of the truck and mark 3 hole locations
identified For (X3) 10-32 x 1" long screw with washer and locknut.

2. Remove fender guard and drill marked hole locations with 7/32" (.218") drill bit.
Peel plastic from around all bolt hole location and secure fender guard in place with 1" long fasteners.

4, Hold top section of fender guard to contour against the truck and drill remaining hole with a 1/8” @ drill bit.
A drill bit slightly smaller will work as well.
Install remaining 2" long #10 self-tapping screw.

Peel plastic and wipe with a soft cloth and glass cleaner if necessary.

#F10 w 4" Self Tapping Screw

(%x3Y 10—32 =« 17
LOMNG SCREWY
WITH WASHER &
LOCKMNIT

Page 1 0f 3 00813060 06/2021



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

PROTECTEUR D'AILE DE PHARE

WESTERN STAR 49X
INSTRUCTIONS D'INSTALLATION :

1. Tenez le protecteur d'aile de phare a l'emplacement respectif sur le devant du camion et marquez les
emplacements des 3 trous identifiés pour les 3 vis longues 10-32-1" avec la rondelle et le contre-écrou.
2. Retirez le protecteur d'aile et percez les trous marqués a l'aide d'une méche 7/32" (.218").

Retirez la pellicule plastique autour des trous de boulon et fixez le protecteur d'aile en place a l'aide des
fixations de 1 pouce.

4, Maintenez la partie supérieure du protecteur d'aile pour qu'il épouse les contours du camion et percer le
trou restant avec une méche de 1/8 »@ . Une méche légérement plus petite convient également.
Installez la vis autotaraudeuse #10 de 2" de longueur restante.

6. Retirez la pellicule plastique et essuyez avec un chiffon doux et un nettoyant a vitres au besoin.

Vis autotaraudeuse #10 X 2"

(X3) Vis 10-32 de
1" avec rondelle
et contre-écrou

Page 2 of 3 00813060 06/2021



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

PROTECTOR GUARDABARRO DEL FARO
WESTERN STAR 49X

INSTRUCCIONES PARA INSTALACION:

1. Sostenga el protector guardabarro del faro en su respectivo lugar en el frente del camién y marque 3
agujeros identificados para (X3) 10-32 x 1" tornillos largos con arandelas y tuercas de bloqueo.

2. Quite el protector de faroy taladre en los agujeros marcados con una broca de 7/32" (.218")
Pelar el plastico alrededor de todos los agujeros para tornillos y asegure el protector de faro en su lugar
con sujetadores de 1" de largo.

4, Sostenga la seccién superior del protector de faro para moldearse al camién y taladre el agujero restante
con una broca de 1/8” de didametro. Una broca ligeramente mas pequefa también puede funcionar bien.
Instale el tornillo autorroscante de 2" y largo #10.

6. Pelar el plastico y limpiar con un pafno suave y limpiador de vidrios si es necesario.

#10 X 2" tornillos autorroscante

(X3) 10-32 tornillo de 1"
de largo con arandelay
tuerca de bloqueo

Page 3 of 3 00813060 06/2021



